
MTH 111 Chapter 6 Graded Homework 
Answer Key 
 

6.1 #36 
 

 
 

𝑥

5
= 5 

 
𝑥 = 25 

6.2 #25 
  

 
 

2 = 12𝑥 − 7 
9 = 12𝑥 

𝑥 =
9

12
=
3

4
 

6.3 #36 
 

 
 

5𝑦 − 3𝑦 + 6 = 6𝑦 + 6 
2𝑦 = 6𝑦 
𝑦 = 0 

6.3 #42 
 

 
 
14𝑦 − 12 − 11𝑦 − 11

= 38 − 63𝑦 − 28 
3𝑦 − 23 = 10 − 63𝑦 

66𝑦 = 33 

𝑦 =
1

2
 

 

6.4 #14 

 
 

10 (
1

2
𝑥 − 3) =

10𝑥

5
 

5𝑥 − 30 = 2𝑥 
3𝑥 = 30 
𝑥 = 10 

6.4 #20 
 

 
 

8

2
(𝑥 + 2) + 3(28 − 𝑥) = 88 

4𝑥 + 8 + 84 − 3𝑥 = 88 
𝑥 + 92 = 88 
𝑥 = −4 

6.4 #26 
 

 
 

12𝑥

3
+
12(2𝑥 + 4)

4
= 

12(𝑥 − 1)

6
−
12(3 − 2𝑥)

2
 

 
4𝑥 + 3(2𝑥 + 4) = 

2(𝑥 − 1) − 6(3 − 2𝑥) 
 

4𝑥 + 6𝑥 + 12 = 
2𝑥 − 2 − 18 + 12𝑥 

 
10𝑥 + 12 = 14𝑥 − 20 

32 = 4𝑥 
𝑥 = 8 

6.4 #38 
 

 
 

2𝑥 (
3

𝑥
) − 2𝑥(3) = 

2𝑥 (
5

2𝑥
) − 2𝑥(2) 

 
6 − 6𝑥 = 5 − 4𝑥 

1 = 2𝑥 

𝑥 =
1

2
 

 

6.5 #10 
 

 
 

4 − 𝑥 

6.5 #14 
 

 
 

7 + 𝑥 = 32 

6.5 #24 
 

 
 

12 + 12𝑥 = 72 

6.6 #8 
 

 
 

2𝐿 + 2𝑊 = 𝑃 
2(2𝑥 − 4) + 2𝑥 = 40 
4𝑥 − 8 + 2𝑥 = 40 

6𝑥 = 48 
𝑊 = 𝑥 = 6 

𝐿 = 12 − 4 = 8 
 

6.6 #14 

 

6.6 #18 6.6 #22 

 



 
(3𝑥) + (𝑥) + (𝑥 + 15) = 340 

5𝑥 + 15 = 340 
5𝑥 = 325 
𝑥 = 65 

3𝑥 = 195 
𝑥 + 15 = 80 

 

 
 
0.075𝑥 + 0.06(12,000 − 𝑥) = 840 
0.075𝑥 + 720 − 0.06𝑥 = 840 

0.015𝑥 = 120 
𝑥 = 8,000 

12,000 − 𝑥 = 4000 

 
0.5(𝑥) + 0(4 − 𝑥) = 0.1(4) 

0.5𝑥 = 0.4 

𝑥 =
4

5
= 0.8𝐿 

6.7 #22 

 
 

𝑅𝐴

𝜌
= 𝐿 

6.7 #36 
 

 
 

2𝐴

ℎ
− 𝑎 = 𝑏 

6.8 #4 
 

 
 

𝐼𝑅 = 𝑉 
𝑉 = 44(2.5) = 110 

6.8 #10 

 
 

 
𝐴 − 𝑃

𝑃𝑟
= 𝑡 

2025 − 1500

1500 ∙ 0.07
= 5 = 𝑡 

6.8 #16 

 
 

 
2𝐴

ℎ
− 𝑏 = 𝑎 

2(5502)

28
− 183 = 210 = 𝑎 

 

 
 
 
  


